69. Botanist Bernice is in the jungles of distant Jazzyland.
She discovered huge gourds there known as the Goofus
Gourds. She found only two. The total weight of the two
was 25 pounds. The smaller one weighed 10 pounds,

8 ounces. What is the weight of the bigger gourd?

The bigger gourd weighs
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70. One orbit around Planet Pinky is 10 kilometers and 200 meters.
Spaceman Sid has orbited Planet Pinky 8 times. How far has Sid

traveled around the planet?

Sid has traveled around the planet.
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71. The Quibblers, a quartet of singers who each play a bass, were going on
a tour of Europe. They packed their basses and found the total weight of
their basses was 80 kilograms, 120 grams. Each Quibbler has one bass.
All basses weigh the same. How much does each bass weigh?

Each bass weighs
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72. Dracula, Jr. was studying for Monster School tests.
He spent 1 hour 30 minutes on Vampire History,
1 hour 15 minutes on Mummy Math, and 1 hour
45 minutes on Spooky Spelling. How much time
did he spend studying in total?

He spent
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studying in total.
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